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’ 100kN/mM%Z#BZ % -l -~ = -|3mZBz5| - ~ = - -| 100kN/mM%E#Z % = -~ = -|3m%z#Bz% -~ - = =
Zh st 1.00/ 000 ~ 6.98 8855 #hList [000 ~ 698 1.92 9.69 ZHLS 1.00f 500 ~ 9.20 8855 #hLlst | 500 ~ 920 1.92 9.69
9 100kN/m%Z#BZ % -l -~ = -|3mZBz5| - ~ = - -] 100kN/mM%E#Z% = -~ = -|3m%z#Bz% -~ - = =
Zh st 1.00/0.00 ~ 7.08 89.94| #hList [000 ~ 000 1.73 8.75 ZHLS 1.00f 500 ~ 890 89.94] Zhuist | 500 ~ 890| 1.73 8.75
3 100kN/mM%Z#BZ % -l -~ = -|3mZBz5| - ~ = - -] 100kN/mM%E#Z % = -~ = -|3m%z#Bz% -~ - = =
Zh st 1.00/0.00 ~ 6.59 83.15| #hList [000 ~ 0.00| 1.68 8.50 TS 1.00f 500 ~ 8.0 83.15] #hLis | 500 ~ 8.00| 1.68 8.50
4 100kN/m#%#BZ % -l -~ = -|3m%EiEZ S a ~ = = -| 100kN/mM%E#Z% = -~ = —-|3m%EiBZS =~ = = =
ZnLs 1.00{0.00 ~ 548 68.34| ZhLls |0.00 ~ 548| 2.06 10.43 st 1.00f 500 ~ 7.30 68.34| Zn Ll | 500 ~ 7.30] 2.06 10.43
5 100kN/m%#BZ % -l -~ = -|3m%EiEZ S a ~ = = -| 100kN/mM%E#Z% = -~ = —-|3m%EiBZS =~ = = =
ZnLs 1.00{0.00 ~ 5.66 70.72| ZhLlst 1000 ~ 566| 2.00 10.13 Lot 1.00f 500 ~ 7.20 70.72| #nList | 500 ~ 7.20] 2.00 10.13
6 100kN/m%#BZ % -l -~ = -|3m%i#825[0.00 ~ 0.06] 3.11 15.72| 100kN/m%#B 2% = -~ = -|3m%iEzx3%| 500 ~ 7.20] 3.11 15.72
ZnLs 1.00{0.00 ~ 1.07 18.15] =it [0.06 ~ 1.07| 3.00 15.16 st 1.00f 500 ~ 7.20 18.15] Z+xkl4t | 500 ~ 5.00( 3.00 15.16
7 100kN/m#%#BZ % 1.00/ 0.00 ~ 0.27 103.90|3m%E#B % % a ~ = = -| 100kN/mM%E#Z% 1.00] 11.63 ~ 12.40 103.90|3m%E % % =~ = = =
ZnLs 1.00{0.27 ~ 8.05 100.00f Z1List |0.00 ~ 8.05| 244 12.31 st 1.00f 500 ~ 11.63 100.00] Zh A4t | 5.00 ~ 1240 2.44 12.31
8 100kN/m%#BZ % -l -~ = -|3m%EiEZ S a ~ = = -| 100kN/mM%E#Z% = -~ = —-|3m%EiB A =~ = = =
ZnLs 1.00{0.00 ~ 749 95.69] Zh L4t 1000 ~ 749 203 10.26 st 1.00f 5.00 ~ 10.30 95.69| #ni4 | 5.00 ~ 10.30f 2.03 10.26
9 100kN/m#%#BZ % 1.00{0.00 ~ 0.08 101.15(3m%#BZ % -~ = = —| 100kN/M%# x5 1.00( 11.16 ~ 11.40 101.15|3m%E#B %% -~ = = =
ZnLs 1.00/0.08 ~ 7.86 100.00] Zhld4t | 0.00 ~ 0.00] 1.65 8.32 st 1.00f 500 ~ 11.16 100.00] Zhldst | 5.00 ~ 11.40| 1.65 8.32
10 100kN/mM%#BZ % 1.00{0.00 ~ 0.17 102.54|3m%E X5 al ~ - = —| 100kN/m%#8 2% 1.00{ 11.16 ~ 11.70 102.54|3m%#B 25 =l ~ - - -
ZnLs 1.0010.17 ~ 7.96 100.00] 1 ld4t | 0.00 ~ 0.00] 1.65 8.32 st 1.00f 500 ~ 11.16 100.00] Zh x4t | 5.00 ~ 11.70] 1.65 8.32
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
ZFh s ~ FhnLst ~ S ~ ZFh s ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
ZFh s ~ Fhn st ~ Zh s ~ ZFh s ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%i#8 % % ~ ImEBZD ~
ZFh s ~ Zh s ~ Zh LS ~ ZFh s ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%i#8 % % ~ ImEBZD ~
ZFh s ~ Zh s ~ Zh LS ~ ZFh s ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%i#8 % % ~ ImEBZD ~
ZNLUS ~ ZThLS ~ ZHLS ~ T IO0)) ~
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